Implicit Differentiation Circuit

Name:

Block:

Seat:

Directions: Begin in cell #1. Take the derivative. )
Search for your answer. Continue in this manner until Answer: _ 3"
you complete the circuit. Additional paper may be neces- 4y
sary! No technology is needed! # 334+ 2=22
10 2,2
Answer: 03Ty
—2ya3 — 9y?
# 1 :—29% +3 =23
—32% — 62y — by
Answer: 322 1 50
# o —2zy? — 322%y3 + 3 = 423
2 2
Answer: =
_2y2 -1
# s —x?y? =3y + 2 =523
2
Answer: X3
—3yx? — 3y
# :4x? + 4oy = 5y + 4

St. Francis High School

September 28, 2020

AP Calculus AB



Page 2 of 2

September 28, 2020

3 2
Answer: M Answer: s
“6y2a? —y 9y
# 0 dr=-by?—2%y+4 # ;=23 — 3y + 4 = 223
1222 4 2y° + 63> 1522 4 2212
Answer: 1 ?j 3 y2 x Answer: %
xy — 94y 2yx? — 9y
# ¢ —32%y? — 2% + 5 = 5z # s34+ 322y 4+ 5y =5
10 5 3y? —152%y — 8z —
Answer: 20 + oy 4 9y” Answer: 1527y — 8z — 4y
—bx — 6y 4z + 523
# s —4a?y? + 2 = 522 4+ 2 # : —bxy — 3zy? + 5 = Ha?
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